Pre-Caicu!us 30
Chap@er 2: Radrcal Functlons Rewew
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"1 Wrrte the equation of a rachcal funct:on that would result by applymg each set of
' transformations to the graph of\o’f(x) : o

a) vert:cal stretch by a factor of 3 and horlzontal stretch by a facton of 2
2 -

b) horizontal reﬂection in the y-axis, translatson up 3 unlts and translat;on IeFt 2 umts

8 c} vert:ca! reﬂectlon m the x—axrs hor:zontal stretch by a factor of T and translataon down_' o

d) verttcal stretch by a factor of 5, hor:zontal stretch by a factor of 0. 25 and transiatlon
right 6 un:ts - '
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2. Sketch the graph of the fol!owing function using transformations.

y=5=y2Gvy)  y = s 5
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o 3. State the dbmain ahd_ range of each fu_ngﬁtion_
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_ 4 For each functlon, write an equation ofa radlcal functlon of the form y a‘/b(x )+fc S
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5 Expiatn how to, transform the graph of. y \/_ to obtain the graph of each funct:on
R e J) o o . .
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6. Determme the domaans and raﬂges of each palr of functtons Exptaln why the domams and
: ranges dtffer. ' : - SR . S S _ _

a) y x+5|)y \/x+ __.'IbI)y x..—_9 y= V ?

7. Using the graph of y = f (x}, sketch the graph of y = JF(x).
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" 8. sol
: O‘fk%\{lt} :
a) x+3= 2x2—7_'_ .
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b)x \/x+10+2
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9 The radtus I ofasphere 15 related to the surface area A by the equat;on r~- Sl

a) The surface area of a baseball is about 172 cm Flnd the radlus of a baseball to the
' nearest tenth Gf a centlmetre

b) The radius of a tennis ball is about 3.3 cm. Find the surface area, to the nearest square
centimetre.
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